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COMPUTER SCIENCE SSC-II

Total Marks Sections B and C: 43

NOTE:

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

SECTION — B (Marks 27)

Answer any NINE parts from the following. All parts carry equal marks.

(i)
(i)
(i)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)

(xi)
(xii)

(xiii)

Briefly describe ‘flowchart’ and ‘algorithm’.

Write an algorithm to find a cube of a number.

Differentiate between ‘assembly language’ and ‘high level languages’.

Enlist the functions of ‘linker’ and ‘loader’ in C programming.

What are ‘Web hosting’ and ‘hyperlink’?

What is the purpose of gets() function? Briefly explain. Also give an example.
Write a program that prints sum and product of three numbers

What is a nested loop? Write briefly. Also give two examples.

Write a program that prints a line of 60 asterisks (*) using do while loop.
Write the HTML tags for the following:

a. Paragraph b. Underline c. Heading

Briefly describe how basic and compound assignment operators are used?
Write down the purpose and syntax of while loop.

Draw the logic circuits of following Boolean function. F= xty+yz

SECTION — C (Marks 16)

Attempt any TWO questions from the following. All questions carry equal marks.

da.

b.

Draw a flowchart to find factorial of a number.

What are the rules for specifying a variable name in C language?

Write a program that reads the length and width of a rectangle and prints its area.

What is the purpose of switch() statement? Explain. Also give one example

Write down steps how to apply background color to a web page.

Differentiate between while and do while loop.

—25A-12311 —
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COMPUTER SCIENCE SSC-li

Total Marks Sections B and C: 43

NOTE:

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

SECTION — B (Marks 27)

Answer any NINE parts from the following. All parts carry equal marks. (9x3=27)

(i)
(ii)
(i)
(iv)
(v)
(vi)
(vii)

(viil)

(ix)

(xi)
(xii)

(xiii)

Differentiate between low level and high level language.
What are the three advantages of using flowcharts?

Why format specifier is used? Briefly explain. Also give two examples.

Write a program to print the sum of even numbers from 1 to 50.

What are reserved words? Why should they not be used as variable names?

Which tags are used for creating a table in HTML?
Differentiate between printf() and scanf() functions.
Convert the following for loop into while loop

int k;

for(k=25;k>0;k=k-3)

printf(“/n%d” k)
Differentiate between if and if-else selection structures.
Simplify the given Boolean function using Karnuagh map.
F=xZ+ Xy
Differentiate between Website and Web Server.
Differentiate between getch() and getche() functions.
What is the output of following program

int n;

for(n=30;n>10;n=n-5)

printf("\n %d”,n);

SECTION — C (Marks 16)

Attempt any TWO questions from the following. All questions carry equal marks. (2x8=16)

a.

Write an HTML code that displays an image file in a page. Assume that image file , mosque.jpg and

HTML document are in the same folder

Draw truth table for the following Boolean expression. F= ¥yZ + ¥yz + Xyz + xyz

Write a program that reads two numbers and prints the larger.
Draw the graphical symbols of AND, OR, NOT and NAND gates and write their functions

What is a control structure? Explain any two conditional control structures with examples.

Find errors in the following code.
intk, a
a=3; k=1;
while (k<10);
[
printf(“\n %f\t%f" k k*a-1); k=k+2;
]

— 25A-1 2311 HA —
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int k;

for(k=25;k>0;k=k-3)
printf(“/n%d" k)
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int n;

for(n=30;n>10;n=n-5)
printf(*\n %d",n);
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s Ludr -GS Jrne )

intk, a

a=3;

k=1;

while (k<10);

[
printf(“\n %At%f" kk*a-1); k=k+2;
]
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1 L
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The text or image in a web page that: !
redirects the user to another web page when; : : : ) H
clicked is called: 1Web link i Hyperlink iBrowser link :Search link | O O O O

+€ h_cs(_/uLf()’\_ul;c.édf..[i’ﬁ‘:f_t_/_;‘jué@%:uf[ A E._C',q"l, E_ﬁ.fjil,: Eu.@@/
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Find the output:

void main (void) {

int i = 0; i : ;
switch (i) { E ; . ; ;
case '‘0': printf (“Computer’); o ' ' il ti :
break; ‘Computer  :Science {Gomptal  Godmpliatife: O O O O

. iScience rerror
case ‘l’: printf (“Science”) ; ' E

default: printf (“Computer
Science”) ;

H ] 1 [}

i ; :
_Lfl.—n_n_-sl'JﬂjuarL;J ; ! H '
i i
: q

o ol

Which among the following is NOT a Eoglcal
or relational operator? i = =

*’c,f;/ld);L;,..J’l/g')rc.quybﬂ: E 4 E

O
O
O
&
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variables? 116 ::12 8 6 ) O O O

"[.ur(Combmat:onq)é»br_ut;ufg,klﬁu‘f.d"/;‘i» i 5 :
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of valid statement in programming? 'Compiler lInterpreter  |Assembler  iDebugger | O O O O

L] ._/»L...(;i):/f_v(a_.-_ﬁur,)g E)_;E}r LA LA

1
[

Which logical il gate is represented by the |
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w1 OR ‘NOR Exclusive-OR ! |
9{4‘_}&,[‘_.:(‘_5}[[(&,(4 F:(x+y) E ' ! :NOR i O O O O
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7. Evaluate 100/10/4: 1.5 2.5 3.5 4.5 L O G
/S S 100/ 10/4; : ' :
Output of the code: ; .
if ((1= =1) |](2= =3) ) : ; |
printf (“Good"”)else ! ' ' ! '

8 D rintf (“Bad”) ; :Good Bad \Nooutput  iSyntax error | O O
o EINS N S i
How many times a Do - While Ioop, ; ; :

9. guarantees to execute? 10 i Infinitely i Variable i1 ' O O
‘Ldﬂuxuwlu{;;ﬂ;l.ufnﬂ While loop | Eral) ,:;.‘7‘ : :
Which logical operator will be used to make| ; : E :
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if (marks>=80 marks<=100) . . ' :
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What will be the output? ; :
void main (void) { ': E E
int n; i '9 P | \ i
for(n = 9; n!=0; n--) I 4 ; h ;

11. s L P B W 197531 21 . 19753 i O O
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COMPUTER SCIENCE SScC-Ii

Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 27)
Q.2  Answer any NINE parts from the following. All parts carry equal marks. (9x3=27)
(i) Write an algorithm that compares three numbers and displays the smallest.
(ii) Describe the function of DEFINE and INCLUDE in C with the help of examples.
(iii) Briefly explain three fundamental elements of structured languages.
(iv) What is URL? Name the parts of following URL. http://www.yahoo.com
(v) Write a program that reads a number from the user and checks whether it is fully divisible by 7 or not.
(vi) Relate 'Algorithm’ with ‘flowchart’ and ‘program’.
(vi)  Simplify the Boolean function using K-map. F=xz+yz+xyz
(viii) Write down the function and syntax of puts( ) and gets( ) functions.
(ix) Write the output of the following program
void main void ( ) {
int n;
printf (“\n") ;
for (n=1;n<=40;n=n+3) {
printf (“%2d”,n) ;}
(x) Describe Boolean function. What will be the output of ¥ =x yz +xyz+ xy when the values of x=1,y =0,
and z=17
(xi) Discuss three basic data types used in C with examples.
(xii) Draw the logical circuit of the following expression: F = ABC+ A4 B+C
(xiii)  VWWhat will be output of the following?
<html> <body>
<0l>
<li>Cofee</li>
<Ii>Tea
<ul>
<Ii>Black tea</Ii>
<Ii>Green tea</Ii>
</ul>
</Ii>
</Ii>Milk</Ii>
<Ii>Sugar</Ii>
<0I> </body></html>
SECTION — C (Marks 16)
Note: Attempt any TWO questions from the following. All questions carry equal marks. (2x8=16)
Q.3 a. Write a program that reads 3 sides of a triangle a,b,c and displays the area of triangle using the
following formulae s =(a+b+c)/2, and Arca= Js(s —a)(s—b)(s—¢) (Use built-in function: sqrt)
b. Covert the following equations in computer format:
(i) R, ROl (i) m=hrTh (i)  P=d*+b*+2ab
2a %—x
Q.4 a. Write the concept of ‘Break’ and ‘Continue’ statement with examples.
b Write a program that converts ‘kilograms’ into ‘pounds’ using while loop until the user inputs 0.
Q.5 a. Create simple calculator to perform addition, subtraction, multiplication and division using
IF — Else — IF structure.
b. Explain nested IF and conditional operator with the help of their syntax.
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A 5 u./.-_u)t‘;‘?.f,f‘f" LUFINCLUDEs/DEFINE(:C (ii)
S eolos A S SAF A (i)
http: //www.yahoo‘com —LZ)/{/;rtZ—U!‘“? LURLX%.J?;_LIUI{L (iv)
..u.‘fg;.l;‘ﬂﬂﬁ'd"(/_:?ufé.l;.5/‘_"@:,4//:/.2{éread&/a}&bzﬁdri/ﬁ{‘.{r (V)
ﬂ'lL&waL}:rl/r:{_ufFlow Chart, Algorithm (VI)
F=xz+yz+xz _u_’/’U"’L’:-_ud/K—mapfu'ﬁ'Boolean (vii)
_u’-wnl(f”‘syntax ?q_o:ﬁ;\(’?gcls (ustputs O (viii)
?ufﬂ__lr(outpuléa}fyu (ix)
void main void ( ) {
int n;
printf (“\n”) ;
for (n=1;n<=40;n=n+3) {
printf (“%$2d"”,n) ;}
Ut x=1,y=0,z=1 ‘.',egqﬂ._sf'gKF =X yz+xyz+xy 'i':‘:..t'ﬂy/Boolcan Expression (x)
_L,'{/C;/;JLJLU)IL‘)Date 'prcsd:’lg'rJ:"JC (xi)
_uftr.Logical Circuitf’ F = ABC + A B+C (xii)
_ufb“-.outputuﬁuﬁ&u (XIH)
<html> <body>
<01>
<li>Cofee</1li>
<Ii>Tea
<ul>
<Ii>Black tea</Ii>
<Ii>Green tea</Ii>
</ul>
</Ii>
</Ii>Milk</Ii>
<Ii>Sugar</Ii>
<0I> </body></html>
(16~ J’/)("r,._.«-?
(2)(8:1 6) (-, 7.V /) Luﬂlrru_gf J’ ;Jlf»;.(j)‘j
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P=a’+b*+2ab (iii) m=22"24 (i) e SO 8 (i)
X, — X 2a
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